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1.In SAP Analytics Cloud, what must you do when you use a planning model with group reporting data 
for legal elimination reports? Note: There are 2 correct answers to this question. 
A. Select a consolidation unit hierarchy 
B. Store elimination entities persistently 
C. Determine elimination entities dynamically 
D. Select a consolidation profit center hierarchy. 
Answer: A,B 
 
2.You are using the SAP BPC, version for SAP BW/4HANA Standard option.  
When importing data from a YTD model to SAP Analytics Cloud, what can you do? Note: There are 2 
correct answers to this question. 
A. Store YTD data for income statement accounts 
B. Select the write-back model type 
C. Store periodic data for income statement accounts 
D. Select the basic model type 
Answer: C,D 
 
3.You want to import data from SAP BPC Standard. 
Which SAP Analytics Cloud planning model types can you use? Note: There are 2 correct answers to 
this question. 
A. Write-back 
B. Financial 
C. Basic 
D. Generic 
Answer: A,C 
 
4.You are using SAP Analytics Cloud and SAP BPC, version for SAP BW/4HANA Embedded option. 
Which of the following planning features are available for hybrid planning? Note: There are 2 correct 
answers to this question. 
A. Planning Sequences 
B. Analysis Authorizations 
C. Data Access Controls 
D. Data Actions 
Answer: A,B 
 
5.Which scenarios can you implement using SAP Analytics Cloud advanced formulas? Note: There are 2 
correct answers to this question. 
A. Eliminate inter company transactions in real-time. 
B. Forecast HR turnover rates using machine learning. 
C. Calculate depreciation. 
D. Aggregate dimension members. 
Answer: C,D 
 
 


